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Set pair analysis model for water safety evaluation of Chaohu Watershed
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Abstract The set pair analysis method comprehensively describes the relationship between things from an identical-
discrepancy-contrary perspective and can effectively describe the certainty and uncertainty of a water safety system.
When using the connection number to describe the certainty and uncertainty of the water safety system the discrepancy
coefficient i in the range of —1 1 is uncertain. In order to demonstrate this uncertainty the triangular fuzzy number
was used to define the discrepancy coefficient i. The set pair analysis model for the evaluation of the watershed water
safety was established and applied to the comprehensive evaluation of water safety in the Chaohu Watershed. The results
show that the ranking of the water safety status in nine districts and counties of the Chaohu Watershed and in the whole
watershed is in the following descending order Hefei Juchao Hanshan the whole watershed Hexian Lujiang

Wuwei Feixi Shucheng and Feidong. This set pair analysis model can effectively identify water safety grades by using
the connection number of the triangle fuzzy number thus providing a new approach for water safety evaluation and it has

a certain applicable value.
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